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<gftE> (Bfr:FH)
X 7 TR 7EE
e SCIEHESE (A) 617,180
IEHEVESE (B) 3,247,365
37 AL LEEHEIERE (C) 181,999
SHEHENEEZED) 1,235,385
BiH(E)=(A)+(B)+(C)+(D) 5,281,930
%S (F) 11,412,119
b3 (E) ~ (F) x 100 46.28%
CE)BEMARBEVVETTHLD T, SRSV T—ELEE A,
<RILEFHE> (Bfr:FH)
X 7 TR 7EE
e SCIEHESE (A) 607,020
IEHEVESE (B) 567,226
37 AL LIEHEIERE (C) 213,541
SHEHENEEZED) 522,382
BiH(E)=(A)+(B)+(C)+(D) 1,910,169
REIMEHEES (F) 10,525,953
e (E) ~ (F) x 100 18.15%
CE)BEMARBEVVETTHLD T, SRSV T—ELEEA,
<KI{EH¥E> (Bfr:FH)
X 7 TR 7EE
W SCIEHESE (A) 1,733,548
IEHEVESE (B) 1,781,618
3’7)5] Ll EER{EVEZE (C) 0
SHEHENEEE D) 0
BiH(E)=(A)+(B)+(C)+(D) 3,515,166
KIEWEERS (F) 3,515,166
b3 (E) ~ (F) x 100 100.00%
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